TPMT b kapnycHom ucrnomrerul: 5

IPMI

Kowm Lleny Leny Kowm
B Bux -2468 2208 /
B Buix. +248 2208 2

Kowm Llenw Lfene Kowm
9 - Bexad 1-1 J
0 - Bexod 1-2 4
17 - Bexod 7-3 b)
v | Bwd 3 - 6
B | Bd 12 - 7
% | Brod 1-1 - )

[PMT b kapnycHom ucnomHerur: H LT U2

TP
Koum Llenw
1 2208
7 2208
Kowm Lleny
1) Bex. 248
B Bex. +248
Koum Lleny Llenw Koum
9 |Bxod -1 Bexod 1-1 J
0 |Brad 2 Bexod 1-2
71 |Brod 1-3 Bexod 1-3

4

I3}

1

SR SN U SN

[PMT 6 kgpnycHom ucrnonHequ: 1]

TPM1

Kowm Lenv Lenv Kowm
6 Bux +268 2208 7
B Bux -24B 2208 2

Kowm Lene Lenw Kowm
A Buixod -1 ]
5 Buxod 1-2 4
4 Bexod 1-3 )
1| Bxad -1 - 6
v | Bxad 12 - 7
9 | Brod -3 - 8




